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Q1. Areaof triangle formed by line y-x = 6, x axis and y axis is
(@) 36 (b) 24 (c) 18 (d) 12

Q2. Equation of line parallel to line 3y + 4x = 12 and passing through point (3,3) is
(@3y+4x=6 (b) 3y +4x =9 (c)3y+4x=38 (d)3y +4x =21

Q3. Ifstraight lines 3x + 4y = 3 and 6x — by = 3 are perpendicular to‘each-other, Find b ?
(@) 3/5 (b) 4/9 (c)7/2 (d)y9r2

Q4. Distance between points (1,3) & (-3,6)?
@5 (b) 3 (c)4 (d) None of these

Q5. Coordinates of the point which divides the distance between the points A(0,2)'& B(4,0)
in the ratio 1:2 is?

1 2 4 4 4 4 1 1
@ (5.3) ® (-5.=3) © (5.3) @ (-5.-3)
Q6. Find the-gradient of line.3x + 5y — 2 = 0?
(a)—3 (b) -2 (©=3 (d)5
Q7. Find out the slope of line'which.is passing through the points (5,0) & (-2,6)?
(@)% (b)—3 (©6 (d) =6
Q8. Find outthe'equation of line which is passing through the points (3,1) & (2,-1)?
@x—-3y+-2=0 b)) x—y=0
©y—-2x+5=0 d2y—x+5=0
Q9. Pointof intersection of lines3x +2y —1=0&y = x + 2?
37 37 3 7 3 7
@ (-23) ®(:7) © (5 -3) @ (-3-3)
Q 10. Find out the ‘x’ intercept of line 2x + 4y — 7 = 0?
(a) = (b) - (©) 2 (d)7

Q11. Two straight liney = myx + ¢; & y = myx + ¢, are parallel, if:
(@ my =-m, (b) mym, = -1 (c)mym, =0 (d) my = m,

Q 12. Which of the following is not an equation of straight line?
@y=3x+2 b)x—5y—-1=0 (c)x=23y+2 (d) None of these
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Answer Key
Ql c Q2 d Q3 d Q4 a Q5 c
Q6 a |Q7 b Q8 ¢ |Q9 a [Q10 c
Q11 d [Q.12 d
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DPP-2 Basic Math: Geometry (Straight Line)
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